EARAROBREBRT —5 XN—ZXBISH—F

202458825 (BH) 10EHAE2H

NREERE YS5R3® (Rl B | EEE - | 9 w0 B
[AXE%E]) 1 %&:430,00H ~ 2%&:138,000H  3#%:77,00M  43%&:52,000H  53&:34,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
Y E XY 4 3 | WTHEE 1:30.8 1-1-1-1 | 38.6| — 1 502 | BBt (5E)
1 2 | R—=0F7v—0O %.0 =) *3) TR LT VTR )
RARASK=—9 B: /D Ua—rrJ7—L%RRtt
\ o LO% :31. -4-2- . - GlEX (E8)
? 4| FTARO # 3 | W 1(321)2 4-4-2-2 | 38.8 2 (4+e15) NI
RiNZ—ka1—RX B:RI—-Uv hRAA FKBUS
—n || S¥E : -3-4- - THIERE (K8
31111 ALFF—I 303 ol 1.(362).4 3-3-4-3 |39.8 3 (4_771) ; #%ﬂ (1£23)
RAASKRZI—9 B:FA4I=5V5 BT 7—L
= == [salesr : -5-5- - REFAE (£8)
4)5|5 | FL5RO=H 8 3 ek 1.(353).3 5-5-5-5 | 40.4 5 (4_2;1) iz &
RiR—IEI B:FLTIX J\B77—L4
. HPEA 133, -2-3- . - JeatiRtE (28)
5 3| 9T ITER 33 BeE 1(323)7 2-2-3-4 | 41.2 7 (4_239) sﬁﬁég =)
R:O—RNUZR B by TT4—F2R FH tF
=— 4 3 | DA 1:33.8 6-6-6-6 | 40.8 | — 4 447 | KEFEX (E8)
6 6 Ju=—/ 54.0 (3/4) -10) jtﬁ;i
R:O0Yv—NO—X B:F5Ux EEdre]
5 9 3| AR 1:34.4 7-7-7-7 | 40.4| - 6 489 | BEABT (K8)
7177 |F7TIWY—=F * 56.0 3 ) J P N#H
R:STU—FA B:U—RI—hk =]
@ 1—F—&RIEL
13—7— 2,3,1,4,5,6,7
2d—73— 2,3,1,4,5,6,7
33— — 2,4,3,1,5,6,7
43—F— 2,4,1,3,5,6,7
o ILRE
BB 2 130 JA R 2-4 110MH 5 & 2-4 140 3EE 1-2-4 210M
B B 2 100/ 1-2 1409 =51 2-4 2004 3EH 2-4-1 430
4 110 1-4 1804

ABIC OV TRUTEREERRODDZE. THRIIZEL.




